ERRATA:

[P3]: In the first two equations of Eq. (14), 4h should read 4h/d . In the first line of Section
3.3, directivity should read radiation pattern. In the line below Eq. (23), W = exp(-4S/3V)
should read W =1/2- exp(— 4S/3V).

[P4]: In Section 1 and line 3, co-polar discrimination should read cross-polarization
discrimination. In Eq. (3), (@) should read f?(#).In Egs. (5) and (6), F should read 7. In
line 2 below Eq. (8), N/km should read 1/km. In Eq. (10), 2k* should read 2k*. In Eq. (15),
the last term should read —h,/kd . In the line below Eq. (19), W = exp(- 4s/3v) should read
W =1/2-exp(— 4s/3v).

[P5]: Delete d, =1 mintheline below Eq. (2).
[P8]: In Section 2 and the 5™ assumption, exp(z/T)/T should read exp(—z/T)/T . In Section

6, line 5, frequency-selective should read time-selective. In Section 7 and line 3, in Table 1,
and in the caption of Fig. 3, Rician should read Ricean.





